Gap (recessionary and inflationary)

Recessionary gap

@ in the AD/AS-system

Price level _ GDP = Gross domestic product
Potential AS rGDP = real gross domestic product
4 GDP / AS = Aggregate supply
AD = Aggregate demand

Recessionary gap (€—» ):
80-50=230

™\ AD

5 >
50 80 rGDP

@ in the Keynesian model

AD _ AD = Aggregate demand = C + | + G + (X - M)
A Potential GDP C = Consumption
| = Investment
AD G = Government spending
/ X = Exports

M = Imports

Recessionary gap (€—» ):
80 -50=30

i >
50 80 rGDP
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Inflationary gap

@ in the AD/AS-system

Price level GDP = Gross domestic product
. rGDP = real gross domestic product
Potential GDP AS = Aggregate supply
\ AD = Aggregate demand

Inflationary gap (€—» ):
80-50=230

/

50 80 rGDP

@ in the Keynesian model

AD AD = Aggregate demand = C + | + G + (X - M)
4 Potential GDP . AD C = Consumption
| = Investment
G = Government spending
X = Exports
M = Imports

Inflationary gap (€—» ):
80-50=30

50 80 rGDP
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